



Stelle fest, welcher Buchstabe am besten die fehlende Gleichung aus der gleichen Zahlenbeziehung darstellt.

Antworten

1) $60 + 23 = 83$
 $23 + 60 = 83$
 $83 - 60 = 23$

-
- A. $84 - 23 = 61$
 B. $83 - 60 = 60$
 C. $83 - 23 = 60$
 D. $23 + 83 = 60$

2) $330 + 445 = 775$
 $445 + 330 = 775$
 $775 - 330 = 445$

-
- A. $775 - 445 = 330$
 B. $331 + 445 = 776$
 C. $775 - 445 = 445$
 D. $775 + 445 = 1220$

3) $14 + 1 = 15$
 $1 + 14 = 15$
 $15 - 14 = 1$

-
- A. $1 + 15 = 14$
 B. $15 + 1 = 16$
 C. $16 - 14 = 2$
 D. $15 - 1 = 14$

4) $3 + 51 = 54$
 $51 + 3 = 54$
 $54 - 3 = 51$

-
- A. $54 - 51 = 51$
 B. $51 - 54 = 3$
 C. $51 + 54 = 3$
 D. $54 - 51 = 3$

5) $615 + 65 = 680$
 $65 + 615 = 680$
 $680 - 615 = 65$

-
- A. $680 - 65 = 615$
 B. $680 - 615 = 615$
 C. $680 - 65 = 65$
 D. $65 - 680 = 615$

6) $8 + 4 = 12$
 $4 + 8 = 12$
 $12 - 8 = 4$

-
- A. $13 - 4 = 9$
 B. $12 - 4 = 4$
 C. $12 - 8 = 8$
 D. $12 - 4 = 8$

7) $72 + 14 = 86$
 $14 + 72 = 86$
 $86 - 72 = 14$

-
- A. $86 - 14 = 72$
 B. $87 - 14 = 73$
 C. $100 - 72 = 28$
 D. $86 + 14 = 100$

8) $948 + 12 = 960$
 $12 + 948 = 960$
 $960 - 948 = 12$

-
- A. $12 - 960 = 948$
 B. $960 + 12 = 972$
 C. $949 + 12 = 961$
 D. $960 - 12 = 948$

9) $17 + 2 = 19$
 $2 + 17 = 19$
 $19 - 17 = 2$

-
- A. $2 + 19 = 17$
 B. $21 - 17 = 4$
 C. $19 - 2 = 17$
 D. $18 + 2 = 20$

10) $27 + 73 = 100$
 $73 + 27 = 100$
 $100 - 27 = 73$

-
- A. $101 - 73 = 28$
 B. $73 + 100 = 27$
 C. $100 - 73 = 27$
 D. $27 + 100 = 73$

11) $102 + 272 = 374$
 $272 + 102 = 374$
 $374 - 102 = 272$

-
- A. $374 - 272 = 102$
 B. $374 - 272 = 272$
 C. $272 - 374 = 102$
 D. $374 - 102 = 102$

12) $5 + 2 = 7$
 $2 + 5 = 7$
 $7 - 5 = 2$

-
- A. $7 - 5 = 5$
 B. $7 + 2 = 9$
 C. $7 - 2 = 5$
 D. $8 - 2 = 6$

1. _____
 2. _____
 3. _____
 4. _____
 5. _____
 6. _____
 7. _____
 8. _____
 9. _____
 10. _____
 11. _____
 12. _____



Stelle fest, welcher Buchstabe am besten die fehlende Gleichung aus der gleichen Zahlenbeziehung darstellt.

Antworten

1) $60 + 23 = 83$

$23 + 60 = 83$

$83 - 60 = 23$

$83 - 23 = 60$

A. $84 - 23 = 61$

B. $83 - 60 = 60$

C. $83 - 23 = 60$

D. $23 + 83 = 60$

2) $330 + 445 = 775$

$445 + 330 = 775$

$775 - 330 = 445$

$775 - 445 = 330$

A. $775 - 445 = 330$

B. $331 + 445 = 776$

C. $775 - 445 = 445$

D. $775 + 445 = 1220$

3) $14 + 1 = 15$

$1 + 14 = 15$

$15 - 14 = 1$

$15 - 1 = 14$

A. $1 + 15 = 14$

B. $15 + 1 = 16$

C. $16 - 14 = 2$

D. $15 - 1 = 14$

4) $3 + 51 = 54$

$51 + 3 = 54$

$54 - 3 = 51$

$54 - 51 = 3$

A. $54 - 51 = 51$

B. $51 - 54 = 3$

C. $51 + 54 = 3$

D. $54 - 51 = 3$

5) $615 + 65 = 680$

$65 + 615 = 680$

$680 - 615 = 65$

$680 - 65 = 615$

A. $680 - 65 = 615$

B. $680 - 615 = 615$

C. $680 - 65 = 65$

D. $65 - 680 = 615$

6) $8 + 4 = 12$

$4 + 8 = 12$

$12 - 8 = 4$

$12 - 4 = 8$

A. $13 - 4 = 9$

B. $12 - 4 = 4$

C. $12 - 8 = 8$

D. $12 - 4 = 8$

7) $72 + 14 = 86$

$14 + 72 = 86$

$86 - 72 = 14$

$86 - 14 = 72$

A. $86 - 14 = 72$

B. $87 - 14 = 73$

C. $100 - 72 = 28$

D. $86 + 14 = 100$

8) $948 + 12 = 960$

$12 + 948 = 960$

$960 - 948 = 12$

$960 - 12 = 948$

A. $12 - 960 = 948$

B. $960 + 12 = 972$

C. $949 + 12 = 961$

D. $960 - 12 = 948$

9) $17 + 2 = 19$

$2 + 17 = 19$

$19 - 17 = 2$

$19 - 2 = 17$

A. $2 + 19 = 17$

B. $21 - 17 = 4$

C. $19 - 2 = 17$

D. $18 + 2 = 20$

10) $27 + 73 = 100$

$73 + 27 = 100$

$100 - 27 = 73$

$100 - 73 = 27$

A. $101 - 73 = 28$

B. $73 + 100 = 27$

C. $100 - 73 = 27$

D. $27 + 100 = 73$

11) $102 + 272 = 374$

$272 + 102 = 374$

$374 - 102 = 272$

$374 - 272 = 102$

A. $374 - 272 = 102$

B. $374 - 272 = 272$

C. $272 - 374 = 102$

D. $374 - 102 = 102$

12) $5 + 2 = 7$

$2 + 5 = 7$

$7 - 5 = 2$

$7 - 2 = 5$

A. $7 - 5 = 5$

B. $7 + 2 = 9$

C. $7 - 2 = 5$

D. $8 - 2 = 6$

1. C

2. A

3. D

4. D

5. A

6. D

7. A

8. D

9. C

10. C

11. A

12. C